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PART - 11 : SCHOLASTIC APTITUDE TEST
(For Student of Class VIIT)
Time : 90 Minutes Max. Marks : 90
INSTRUCTIONS TO CANDIDATES

Riad the following instructions carefully before you open

the Cruestion Booklet.

1. Answers are ko be given on thee same OMR Answer
Sheet provided for Part -1

2 There are 90 gquestions in this test booklet. All are
compulsory.

3. The Question Numbers 91 - 110 belong to
sathematics, 111 - 145 pertain to Schence and
146 - 180 are on Social Scence subjects.

4. Choose the cormect answer from the options given for
each question and darken the cormesponding cirche
with black ball point pen in the OMR Answer Sheet.
Do reot mark ¥ or "%’ in the OMR sheet.

5, E‘h'm&wﬂmnllnm-ﬁfmmisﬂuuﬁmhpﬁhm
Ihnﬁnd}rmﬂmuldmkrﬂtnbﬂtm:ﬁhh'nnt
spmdlnEmnmu:htimnnanquusﬁm.

& If you do not know the answer o any questson. gho mok
waste time on it and pass on to the next one. If time
can comie back to the questions, which you
have beft in the first instance and attempt them.
7. Rough work can be done anywhere in the Question
Bnﬂhhihutmtmﬂwﬂhmiheﬂﬂnuﬂpnpu.

A. Eachcorrech answiet will b-:-awmdrdmmut

9, Please return the OMR Answer Sheet only to the
invigilator after the test Candidates can retain the
Question Booklet

10, Quote the seven digit Roll Number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.
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91.

92.

93
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MATHEMATICS / &ewnfl 51D

Madhavi has paid simple interest on a
certain amount for 4 years at 20% p.a. 18
T 5,000, Find the Principal.

¥ 6,000
T 7.0

(1)
(3)

@ T 6,250
(4 7,000

There are 360 students in a school. Out of
360 students 240 are boys. Find the
percentage of girls in that school.

3%
33.3%

33.6%
30%

(1)
(3

(2}
(4)

If the exterior angle of a triangle is 1107 and
its interior opposite angles are equal, find all

the interior angles of the triangle.
(1) B0°, 45°, 45° (3 70°, 55", 557
@ 50°,65° 65 (4 70° 507, 60°

Find the missing figures in the following
Pascal's triangle :

o1
@oﬁﬁ

30, 100, 10
20, 70, 21

20, 21, 70
21, 20, 70

(L)
(3

(2
(4]

91.

92.

93.

wraell g GRUGLL Grasss 20%
g eSpiD 4 STHEEHES T 5000 -Be
sefla g urs degpSanrd < Fam

ETENE.
(1) ¥ 6,000 @ T 6,250
(3) T 7.250 (4) ¥ 7.000

g ueaefidla 360 LT G0 7 6 5 5 T
o @reTeni. seufsafle 240 Gui
srameiaar erefie wrevelseafien

sgeliph sTans.
(1) 33%

@ 33.3%

gm paCaramgflan @0 Geuafl&
Carenrid 110° whHph pen e aGlarglis
Csremisd suGweafld, Sbps-
Caransfen smanfs o Camenr-
SEnETLLD ST,

m s0°,45°,45° (@) 70°. 557 55
(3) 50°,65°,65° (4 70% 507, 60°

33.6%
30%

(2)
(4

Qereumin Uneusd WPECsransfa
U _Pedren erarsenar Blrous.

B
5

() 30. 100 10

(3 20,70, 21

20, 21, 70
21, 20, 70

(2}
(4)
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95.

98.

99,

Arithmetic mean of 10 observations Was
calculated as 60. In doing so, an observation
was wrongly taken as 51 instead of 11. What
would be the correct mean 7

(1) 38 (2} 65
(3) 54 4) 51

If 60 workers can do a project work in
12 days, the number of workers required to
do it in 5 days are :

(1} 144 (2) 140
(@ 25 (4) 120

An angle whose measure is greater than
180° and less than 360° is called as

(1) Eu-p?ln:ﬂuntnr}f angle
(2} Complementary angle
(3}  Straight angle

(4) Reflex angle

The factors of 6427 + 14day + 8132 are
(1) (Bx+9y) (Bx+9y)

(2} (Bx—9y) (Bx+9y)

() (Bx—9y)*

(4)  (9y-8x)?

Circumference of a circle is always ;
(1) three times of its diameter

(2) more than three times of its diameter
(3} less than six times of its radius

(4)  three times of its radius

95. 10 wBlysefidn sl Bésrrafl 60 erams
semdSl LUl L g, seeuny Qediyib
Curg gm whoy 11 -&sU uflwrs
31 ereny geumns o HissEsrdrary-
UL L& erafld, sflwmen syrefl wng ?

56 (2) 65
(3) 54 (4] 51

%. 60 Cavmauriser gm QeuddiL
Cavenameni 12 prsefld (W liLriser
wrefied, 24Gs Caumaenu 5 prisaia

pusss Gensuwmrar Ceasenawim seflcn
T aTent|Gen s ;

@ 14 (2) 140

3) 25 (4) 120

97. Gana serey 180° -4 Giod 360° -dger
Bmpard mECsramb |

(1) fens Flpiys Caresnd
(2} Brous Gareand

(3) GCrrCsmemnn
Slen euenerGamannh
98, 64r? + 144y + B1y? EréTLgen Srient ;
(Bx +8y) (Bx+9y)
(2)  (Bx—9y) (Bx+9y)
(3)  (Bx—9y)*
(4)  (9y—8x)?

99. el gflen shperey srenLgy sniGURgD -
(1) siper bl el Curd APy

LOL_ R

@ Siper &L Shen apey wLkiens
el syfain

(3) e ursHen oy oL rkeoseil
@enmey.

4) mgan mrdengl Cura ppsmy
LDl 5




100. The base of the parallelogram is 6 times its
height. If the area is 1734 sq.cm. its base
and height are respectively :

(1) 100 cm, 15 cm
(2) 102 cm, 17 cm
(3 104 cm, 16 cm
(4) 101 cm, 18 cm

101. How many pairs of possible integers are there
that give a product of =63 7

(1) 5 @) 4
3 2 4) #

102. A submarine is at 123 feet below the sea
Jevel. Then it moves up to 25 feet and goes
down below 18 feet. Find the depth of the

submarine.
(1) +116 (2 -80
(3 -1186 (4 +130

103. The distance travelled by the tip of the
seconds hand of a clock in 1 min, if its length

is 126 mm :
(1) 792 mm (2) 972 mm
(3) 252 mm (4) 396 mm

104. How many years are between 421 BC (BCE)
and 1537 AD (CE) ?

1958
1937

(1) 1598 (2)
(3) 1588 (4)

[CODE [VIIL] 11 | 24 |

100. g Boarsysdan <51 b LI LIS &L &
DA eiughengls Gura 6 LOL_RHETEEYLD,
Sigen urLueTey 1734 s Gls. b geaD
Emulen, Sisen SgUUESD WDPID
ewh apanpGu
1) 100 Gaab, 15 S8

102 Qs.8, 17 Q=8
(@) 104 Q#.ab, 16 Qeib
(4) 101 Gs.5, 18 Gs.B

101, QumpEspumen —63 -EBH & 7 45 B g L)
erfgenen Gamg. (ppEasT femere ?
(1) 5 2 4

(3 2 @ -

102. g frappdle sGuarag s
olLgfdmba 123 Mgse ECy
eetengy. 9D 25 Sug s CuaGpréd
pafpy, Sam@h 18 g &6 EGy

@ougdpg.  Bioppds s0ue
BmEED SPIOHE STHIE,
(1) +116 (2) —80

G -1s (4)

103, susrifa 126 Bl.b. Herpperen eflemmiy
apétefien gpeven gy Pl Sl sLEGL0
QAgrencve :

@ 792 8.8 (2)
@ 252.8.5 (4

+130

972 1fl.u8
396 1.8,

104. £.qp 421 wppeb £.09. (Qurg) 1537
-&@ @ Gu egpenen L1 (T L 6T

o _grenen 7
(1) 1598 1958
(3) 1588 (4)y 1957
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105. Find the median of the given data

4, -3, 0, -4, -21. -8, 13, -1, 7.8
(1 -4 (2) =05
3) -5 4 8

106. A 3-fold invitation card is given with
measures. Find its area.

414 em?
498 cm?

1) 598 cm?® (2
(3) 958 em? {4)

107. A 10 feet ladder leans against a wall at
height of 6 feet from the ground. How far is

the base of the ladder from the wall ?
(I} 8 fect (2) 9 feet
(3) 7 feet (4) 5 feet

108. Find the value of 1 : ‘ti—'t—?z%

(1) 100 (2} 105
@3 115 (4) 125

105. Qar@astiulL  grayseailen EenL
Beneenuss srams.
1*? -3'.1 I]J -4.- _.I-I_i -E.- 13‘1 -1.- ?.- 3

M -4 @ -05

M -5 (4) 8

106. g5 3 WUy SEnPOSgDH o m-
wreng ULgdld edrereurgy yemay-
sanard ClsmainHerangy. ST LITLILIeT-

ENEUS ENSTS.

20 Gu ch

1l

(1) 598 Q.82 @ 414 Qs B2
(3) 958 Qs A2 (4) 498 Qs 52

107. 10 g Beroparer gafl, geomuldims
6 g e wrsde seuflmans AsrHuomy
TGS @adsstLl Qe erafld,
saufldlmbs aeflublan <Siig 1L £l -
Wimeng) ereueuatay gyl sererg ?

B <Bilg. (2) 9 =g
(3) 7 mig (4) 5 g
4: ix

v u u X
108. x -an wfLmUE srens 1 — -7 =—

B 5
(1) 100 @ 105

@ 115 (4) 125




109. Find the unknowns in the following figure :

(1) 20, 60°, 100° (2) 80°, 40°, 60°

(3) 100° 40°, 40° (4) B0, B0°, 207

110. Find the correct ascending order of following
rational numbers !

L4178
1) F - B"BE

2 = =15 AP
@ "5 3’6

4 B -13 -7
® T B R
o A SR8 2y
W 312" 15

|CUDEIV'III| 11 ] 24 ]
109, Gersumib uLgHd Gflurs wiOY

SEnETE STEHTE.

v

(1) 20°, 60°, 100" (2) 80°, 40", 60°

(3) 1007, 40°, 40° @ 80°, 80*, 20°

110, Gemeumio éldgqpp sramseficr sfwmen
goaufimsaus GeritsHésaw :

-4 -7 8 -13

3’138 15

~4 -13 7 8
3’ 15" 12" 6

5 AE S ZE
¥l T3'r13" 3’ e

L =48 1 7
B 3 B 1
, =t 78 -n
® 3@
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SCIENCE/ gyifleflwed

111, The element having high melting point, used
in heating appliances is :

lead
tungsten

(1) copper (2)
(3) nichrome (4)

112. Arrange the density of the materials at roam
temperature in ascending order

(1)  Mercury, Wood, Water, Kerosene,
Aluminium

(2} Kerosene, Wood, Aluminium, Water,
Mercury

(3) Wood, Kerosene, Water, Aluminium,
Mercury

(4)  Aluminium, Mercury, Kerosene,
Wood, Water

113, The velocity of a golf ball rolling in a straight
line changes from 18 m/s to 8 m/s in 5 secs.
What is its deceleration ? {Assuming that it

is decelerating uniformily)
(1) 2m/s (2) -2m/s?
(3) =-02m/s? (4} 25 m/s?

114. The equivalent values of — 20°C temperature
in Fahrenheit and Kelvin are

(1) /IS K, —4°F
(2) 26315 K 4°F

(3) 29315 K, —&°F
(4) 24315K. -5F

1. Qaduppd (b srgendsald wwd-
LBssLLBD bl e mEHlene Csmeim_
Gummer
1) smilrs (2)

BaGymd (4)

&mifwith
T T

112. map Gauduflewdd Qurmdsamer
Sigen HriHullér g duei@a
goaflosdd aflmsiubsss :

(1) urgged, wrod, §F, wdrd emran
(Glawmis, sygpBeflusn
(2} wen@emanGlamis, wrb, sgblef

wis, B, umgren

Wrb, el e e Claur, &
(4) sguflafiwib,

Sgiflafln, Urgrsn
URSTHD, e
SemamClami, wyb, i

113. g GpréGarl G urenguld 18 /el
srarn  fesCasifled Fuads
Barargméms Caral LIS e gy
5 dilprgsefid 8 Blefl aarp Hens
Gangflerer s dipgy, sOGUTmea
Gupih erdiapBasn wrg 2 (sig Srrer
wiliwhésfoss daranParersrss
QETers. )

(1) 2d&/&fR -2 B/eh?
(3) -o028/e8? (§) 25 8/ef2
4. -20°C Qautiuflemess @evamurar
currerafi’.  ohmb Gl & afil an
l:II.[-ﬁﬁT.'
[5315 K, —4°F

(2} 263.15 K, 4°F
(3) 29315 K, —&°F
) 24315K -5F




115, The average distance between the Earth and

116.

117.

the Sun is :

(1) 147.1 million km
(2} 1521 million km
(3) 1496 million km
(4) 148.6 million km

Battery : Alessandro Volta @ : Kinetoscope ©

(1) Luigi Galvani

(2) Thomas Alva Edison
(3) Richard Parker

(4) Albert Einstein
Planets without Moon :
(1) Mercury and Venus
(2) Mercury and Mars
(3) Venus and Uranus
(4) Uranus and Mars

118. Select the correct Statement(s) :

Statement : (i) MNothing can travel faster
than light.

Statement : (i) The characteristics of an
object can be determined
by its shadow.

Statement : (iii) The image on pinhole
camera 15 upright and the
mirror image is upside
down.

Statement : (iv) Theimgefnrmedinﬂw
plane mirror is of the samé
size as the object.

(1) Statements (i) and (iif)
{2} Statements (i) and (iv)

(3) Statements (iii) and (iv)
(4) All of the above

[CODE [ VII] 1 | 24 |

115, yilémn silugsso Fen Cwwiman
syrafls Gpreeae
(1) 147.1 Bleveilwien &5
7 1521 Bédluen &8
149.6 Bediwien &8,
1) 1486 Beddlwen .8

116. Wlenmeven : aQaaran Grr Geaumdm
+ + BQer_renGEmd ;
(1) gndd srdauref
FMLOGH S E0EUT STigFe
3) Mésip unfssi
(4) Uil menamen
117, Eeray @ihﬂlﬂﬁ Gemmemasen
Ly@en Whmib Qeuerafl
2} usew whED Qasuaumi
(3) Gleudref whpd wlEyensn
(4) wGraney wHOID EFeuaumi

118, sAwran sapp/Sappisamend CoHiH-
QeBaseyD :
sampl: (i) gaflenw el Casons
srESGaun GuUrmHEsD
Liwefiugldenea.
sappl - (i) S0 Quimmetien
Blipencod Earemy S
Qummeflen peneniosnLis
s Fugin.
sapgy ¢ (i) swdl glenard smilgn
eflér Quplii(pib
GibLnh Gpymang.
i ufid Gamanmid
L gea Sprengl.
sampl : (iv) sogen 2yl WD
Cgrenpud G
Qummiesid GGT
Sereiia EmEEb.
anidpi (i) LopmD (i)
saip (i) wHOID ()
(3) @by (iii) oDpD (V)
1) Cupsbiu s@arbHo
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119. If 20 coloumbs of charge flows through a
circuit for 3 minutes, calculate the current

flowing through a conductor per second !

(1 0114 (2) 010 A

(3) 0.0 A (4) 0.001 A

120. Assertion (A) : Each liquid moves with a
different speed,

Reason (R) :  The frictional force which
lies parallel to the layers of
the liquid opposes the
motion of the liquid layers
when they are in motion,

(1) Both (A) and (R) are wrong

{2)  (A) is correct but (R} does not explain

(A)
(3} (A) is correct and (R) explains (A)
(4)  (A) is correct but (R) is wrong
121. The specific heat capacity of water is

4200 kg~ 1K1, The amount of heat energy
required to raise the temperature of 2 kg of

water from 60°C to 7(FC is

(1) 80000 | (2) 42000 |

(2) B4000 | (4) 48000 |
122. The soft metal is -

(1) Nickel

(2) Sodium

(3) Calcium

(4)  Aluminium

10

115, 20 sguid flengam i b gum &L &l en
auflurs 3 B8 kisenie uimiEm g
wefld, gm dlargla sLgfulld
LMD WlenGemm’ L gdlen syemay :

011 A (2) 010 A
(3} 001 A (4) 0.001 A
120. sampi: geuGeumgms flreugpid Qeue
Gay Gassid psrdpg.
srewnn : Syeudiser §uirimn Cumay
Sieapflen fra sGss
s@mes Qe Cu sapfing
Blemamuns @ewdu®ib

Lrrley eflenswreang e
dlussgens afidgn wens
36 syeniofhdlmEmsin,
(1) sppi, smewnbd FrenGi gain
(2)  sappy . syame smewmb sheny
shlerssedana

(4)  swbpy of, syarrd snremns Feumy
121, Bflen genQauiu Ty men whliy
4200 Tkg = 'K~ 2 8.8, Flenmuyeren Bl
GatiuBenaany S0°C-llmibgy 70°C gy

Bungss Csewlufid Gaiu
<pmaiien gy :

1) 80000 | (2) 42000 |
@ B4000 | (4) 48000 |

122. Glosmenwwiren o Gairsd -
(1) flEsd

Garig i

smeo#wh

sty el b

(3)
(4)




123, Nearly 99% of the mass of our human body
consists of just six chemical elements. They

124.

125.

e :

(1)

(2)

(3)

(%)

Nitrogen, Hydrogen, Potassium,
Sulphur, Sodium, Chlorine

Oxygen, Hydrogen, Calcium,
Sulphur, Chlorine, Magnesium
Carbon, Hydrogen, Phosphorus,
Potassium, Sodium, Magnesium

Oxygen, Carbon, Hydrogen,
Nitrogen, Calcium, Phosphorus

Find the incorrect statement(s) :

(i)

(i)

(i)

(1)
(3)

Nitrogen is the second most abundant
element in the universe

Oxygen reacts with various non-
metals to give corresponding non-
metallic oxides which are generally
basic in nature

Restricting the use of CFCs is one of
the preventive measures to save the
carth and its resources

(id) and (it)
(i) only

(2)
(4)

(i) and (i)
(i) and (i)

Identify the element whose atomic number
is 19 and atomic mass is 39 :

(1)
(2)
(3)
(4)

Sulphur
Potassium
Chlorine
Calcium

11

123, wefls
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09% Hepulia

o L ablgh

SLkSudrer spm Faflokse :

(1)

(2}

(3)

@BLTR, A LR,
QurcLrlwh, sduf, Gemguib,
@Gemmiilein

< FAmen, ean TR, mmeodiiD,
s@UFT, @armilen, ipdatdluib
SMTUEH, en@DLTERen. LT L R,
Qumlir#wb, Gemig i,
el flwib

= &fggen, srfuen, gD LT 6,
it

, a&rddliub, Lrduure

124, gapre smpn/smppsoas Gaip-
QsHésab.

125.

i)

(i)

(1]

1)
(3)

nplymen BOE 5 et L
uFGuars (@ rarorD @ sl
sremriuBn geflowmEb.

8y 4 g e udGaum 2 Carsmn-
s@Len ehienan fifs sr7Spana0
amips sGars basbsenm
e GersEADg.

CFC uweanunrl enL.& GaD se
sarug  Wllewun s
ApaTEIEENET LD LUNBETEGL S0
aflppenpuny

(ii) wdpid (i)
(i) B

(i) i (i)

(4) (i) wHpD (i)

sig ear 19 wppd sgmflon

9 Qanan_ seflngeags sduluayb.

(1}

(3)
(4

St
Eur L m&wib
@& Garmicn
sradiub
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126. Beryllium is an example for 126. Glufldlwib erarug (&) enemr
element. Slmen Gsrame geflodismss am
THEgssT L mELh,
(1) Tetravalent  (2) Divalent (1) prens @ @riew
(3)  Trivalent (4} Monovalent (3} apbeaw 4) ebep
127. Match the following : 127. Gurmigs,
(a) Endothermic (i) Ammonium () Gaulu gby () suwlomfuub
reaction Chloride BITHmiD Blerreny®
(b) Exothermic (i) Purification of b)) Ganiy LlElEh {id) ST HTemr
reaction Common salt WrhHmD B Ueny
' Enlenn
LT
(c) Sublimation (i) Burning of (6) usmiswrEd (i) GoasafPun
Magnesium BT meney
ribbon C erflgse
(d) Crystallization (iv) Dissolution of (d) ugswrEssa (iv) SEnslame
water
(1) (i), (bj-(iv), (c)-(i). (c)-{ii) (1} (e, (b)-(iv), (c)-(i), (d)-(ii)
(2) (e, (b)), (c)-(iv). (d)-(i) (2) {a)-(id), (b-(iid), (c)-Giv). (d)-ti)
(B)  (a-ivh. ()G, ()i, (d)-Gi © @69 B, 60, @-6a)
(4)  (a)-(iv), (B)(i), (ch-(i), (cd)-{iii) (4)  (a)-(iv), (b)-(), (c)-(ii), (ch)(ii)
128, Select the odd one out : 128. Qunmhsngs s Gats.
(1) DNA, enzymes (1) gerener, Qprdsdr
(2)  propylene, ethylene @ HGrmenuelen, ergdlalen
(3 silk, skin (3) L@ Care
(4) chitin, lignin (4) ®oslnen, cisaficn

12




—

129, Choose the correct pair ©

130.

131.

(i)

(id)
(iif)
(iv)

(1)
(3)

Yellow flame - Calcium
chloride

Violet flame -  Borax powder

Red flame Epsom salt

Indigo flame Potassium
chloride

(and ()  (2) (i) and (i)

(i) and {iv) (4)  (if) and (iv)

Identify which of the following compounds

are in solid state :

(1)

(2)
(3
(4)

Potassium hydroxide, Hydrochloric
acid

Silica, Sulphur dioxide

Zinc carbonate, Sulphuric acid
Potassium hydroxide,
hydroxide

Sodium

Assertion (A} : Explosives and fireworks

Reason (R) :

(1)
(2)

(3)

()

burst when ignified.

Some chemical reactions
produce gases which
decreases the pressure
when the reaction takes
place in a closed container.
Both (A) and (R) are correct

(A} is correct but (R) is not the correct
explanation for (A)

Both {A) and (R) are wrong

(A} is correct and (R) 15 the correct
explanation for (A)

[CODE [vii] 1 |24 |

129, sflwmen Feensaens Gafs.

(ijy wEhEeT HLT smradlwib
@Earany (B

(if) emHT HLT - Gurprsen
LI

) Pauly soF - STUSD R

(iv) EemgGsm - Quml rdub

ST @Gerreny (B
(1) (i) whHpd (i) (2) () wpged (i)

(i) wpgd (v) (4 (i) eHDD ({iv)
130. Gereumeuencupmeér H Hlevansiguanan
Gemoksanens sam_is.
1y Qurlirflwuib manLFrEenau(,
el CrrgGanfls sufled
(2) Sl 558~ SpHaen [
(3)  Epsnrs sriuGan. sbss =l
@urlréwib segpLyréenao,
Gamguwid epgplyrenau

131, SaD: OaigEHHSE0, ULLIS-
SIEHD LD eneuE@DGEUTE

Qeuig Sflenmean.
anpewnid : Aw Geaflddmeansar ppigul
saafli Bleugd Gung eums-

SaeT D(HRUTEEIISTE S
Sipgsh EooEpg.

(1) Sap@ WHmD snyemmin Sl
smpp 5l perrd  snyewd
Sapipudanen sfluran eHlaEsnLa

(3) Sedpi WHpD Strewnd GramBo
L

(4) sapgpy &M Guogiwo &N TETD
sapgydsnen sflunen elnasnngn
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132. Match :

133.

(a)

(b)

fc)

(d)

(1)

(2)

(3
(4)

Self pollination (i} Plums,
straw berries

Cross pollination(ii)  Spirogyra

Vegetative (iii} Beans, Paddy
propagation

Fragmentation (iv) Sugarcane,
Yam

(a)-{iid). (b-(iv), (c)-(), (d)-(ii)
(al-{id), (b)), (e)-{iv), (d)-(i)
(@h=(iv), (b)), (c)-(i). (d)-{iii)
()i}, (b)), (c)-qiv), (d)-ii)

Assertion (A) : In Cactus, the leaves are

modified into spines.

Reason (R): It is an adaptation to

(1)

(2)
(3)

(4)

increase transpiration.

Both (A) and (R) are wrong

(A} is correct but (R} is wrong

(A) is correct and (R) explains (A)

(A) is correct but (R) does not explain
(A)

14

132, Qummsss :

(a) & waErBss () Cenbey.
Gar&enm @ rrE@uif

(b}  Siwed wagmass (i) avaniGyr
Cardens SOETT

(€} oid @ens (i) ey, And

Eumési
(d) @mer_rgd (iv) &miby,
CGaenems
dliprig

(1) )i}, (v, (c)-ti), ()i
(2) (@), (b)), (chivh, (d)-(i)
(3) fal-Givh, ()-ii), (c)-fi), (d)-{iii)

. {HHH'.[},. (b)-{i), ‘E}':WI- (l}-(id)

133. sl : serafls sreursdle Blenawser
wprsarTs wrfliydrenes.

spems : frrelliCurdens afss
UBEgeusDEN S <2 L1 6L Ty
BEaimwnss U Heveng.

(1) spp wHps smmewms Grerdi
Aeu

@ ﬁm = <B4, SHTED SNTERITLD Seum)

() sy #f Cuognb smremd siban
ehlerdzdng

[4) smpmy sf, ayerrd sngewr
Safpen eflorEsclldrana




134. Find the correct Statement(s) :

()

(i)

(i)

(1)

(2)

(3)

(4)

In Runner, the stem which grows
laterally on the surface of the soil,
breaks up to produce roots that gives
rise to new plants.

Sucker is a short and weak lateral
branch that grows diagonally
downwards and directly gives rise to
a new shoot.

An offset is a short and thick branch
that arises from the axial part of a leaf.

(i) and (iii)

(ii) only

(i) and (i)

(i) and (i)

15

[CODE [Vl ] 1l | 24 |

134, sfwren smpp/ampmsses CHipH-
ATICTE T

(i)

(it}

(1)

(1)

(4)

SO, georlen Cupuyidd
sueaTrasmig SeLwlLg gan(
e B, usriuGs Gan
semarub, yBw ;.rrmxrrhﬁmmul.h

e manssEapg.

sgaorhp @Bsan( saLy GO
fflw wpgh pdbs uasar_HE
fever LpCprsd aamipg 0
yfiu  grargegs LOAUTES
Senpg.

glaLwre ghgdml sraug

Gevenlin Carens LGS HES
Garamp GLenLwren Sl G5
SenemumE.

(if) Wpgud (i)

(i) whpnd (i)
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135. Select the order of the parts labelled in the

following cell structure diagram,

(1)

(2

(3

(4]

a-Endoplasmic reticulum,
b-Chloroplast,  c-Mitochondria,
d-Golgi apparatus

a-Golgi apparatus, b-Chloroplast,

c-Endoplasmic reticulum,
d-Mitochondria
a-Chloroplast, b-Endoplasmic

reticulum, c-Mitochondria, d-Galgi
apparatus

a-Mitochondria, b-Golgi apparatus,
c-Endoplasmic reticulum,
d-Chloroplast

136. Which cells are used to cure and prevent
Spinal Cord injury ?

(1)
{2)
(3)
(4]

Nerve cells
Red blood cells
Stem cells
Muscle cells

16

135. Spbsrgnd Gsd siwwvly awer
uLghldr gillEsiul Héan Lrskisein
sflurer aflemsenug Gaia.

(1) a-sramGLmAems cusneoliBatnends,
b-uslisamfisn, c-a@wi G
sramg flur, d-Cerdens o _piisd

@ a-GaETebans oL efisdr, b-usii
satisin, c-sramGLmBanre aueng
\Semramed, d-amio’ G ramer flwr

(3)  asustsafisn, b-erarBorSarrs
sumeuGdaard . c-amwmr CLr
sran_flwun, d-Cardes o okisd

4)  a-ewC CLramam’ fwr, b-Cardias
o L auiima, c-aTamGLmSarrs
auener nSenend), d-Lsismisd

136, wampsampd Fhubn smubsamenk
GWOUBSsYD, FOEsaD g
Qecbsdr LweruG&dnpen ?

(1} prby Gsdsar
(2) Erés feuly Qedsar
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137 helps in the separation of 5 D Qesa uglLdean Gurg
Chromosomes during cell division. &CyrCurGsmb &eneml S &Es
e pedng.
(1) Protoplasm 1) yGrrlGLmSermgw
(2) Lysosome (2} eoaGerGamb
(3) Cytoplasm (3) sl G mYenmEo
(4) Centrioles @ Qe MCurdser
138. Name the causative micro-organism which 138, greugrusatia S rev Caenar Cpmeni
citrus canker disease in plants ? e aim_ns@h pemgguif :
{1) Aphtho virus (1) 2s0CHT meurey
(2) Xanthomonas axonopodis @ srpCsrGuoranmen < &en Genm
Gumigei
(3) Phytophthora infestans 3) eulGLreuiCsmr Gentus-

{4) Bacillus anthracis Lgmens

) Cufdad Sybprrden

139, Find the incorrect pairs ! 139, Seuprs GEummESSLILIL B enramm menaTd
GaprpbsBesab.
Plant Family STEUTLD @(BDuLD
(i) Solanum - Splanaceae (i) Gsrarand - GeraGandl
trilobactum Cenleenm
G b
(if) Aloe vera - Rutaceae i) SGaurdegr - @LGLA
(i) Acalypha indica-  Euphorbiaceae (i) esralur - geGUrT
G amgEn G
{iv) Aegle marmelos - Liliaceae ) gdd wmml -  dodiCui
Ganran
(1) (i) and (i) (1) (@) wppuo (i)
(2) (i) and (iv) @ (i) Loppre (iv)
(3) (i), (i) and (i) (3) (i), (i) pmis (i)
(4) (i), (iti) and (iv) (4) (i) (i) whmd (iv)

17
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140.

141.

142,

143,

Night Blindness : Vitamin A : - Bleeding
gums :

(1) Vitamin B
{3) Vitamin D

Vitamin C
Vilamin K

(2)
(4)

[dentify the following diseases which are
caused by bacteria,

Tuberculosis, Rabies, Hepatitis, Cholera,
Cataract, Typhoid, Goitre

(1) Tuberculosis, Cholera, Typhoid
(2) Rabies, Cataract, Goitre

(3)  Tuberculosis, Hepatitis, Cataract
(4] Cholera, Typhoid, Goitre

Find the poultry diseases caused by fungus.

Ranikhet
Aspergillus
Salmonellosis
Anthrax

(1)
(2
(3)
(4)

For how many days, the eggs of silk moth
are to be kept in cold storage before
incubating ?

B wisnekos
2 weeks

5 weeks
3 weeks

(1)
(3)

(21
(4)

18

140. wrepasdsan Cpmi : evaul L iflen o :

141.

142,

143.

rosefid Briss sflay -

(1) e ifler B @meuLL_fle C
3 ol ifer D (4) aeul L fidr K
1 b (1 @ o e ) gy T Limds e

Gerppréd car_rgn Cprisoas

s _fils,

&rsGpmi, Grla, wEsed srorame,

ETerT, S@myeny, eLuUmU®, apen

S(pEEI4E spaney Gpmi

@ srelaml, smopT, LM

(2) Grlew, samyeny, (P& (1 & G
slpemer Gmml

(3

arsGEml, wEssd sTTE,
S@TLeny

Srepr, eourul, weanspsss
Fpene Gmmi

(4)

gisenssamrd) Camfls@née eam_ neio
Gmms -

(1) praflsGsc

@ weouvigoad

(3)  sraCurleandGanrdan

(4)  emphEyTHen

ULROLEAGE el sar el
STSELLHUSHE (P sThgenen Brser
gefit dacuflemald ewdsiul
Ceusr (b ?

& GUTHTRISeT
2 @uTrrsEeT

5 aurriusen
3 aumyriiser

12)

(3) (4)

e —

“r




144. The smallest and longest cell in the human

145.

body respectively are :

(1) nerve cell, red blood cell

(2)  stem cell, white blood cell

(3 red blood cell, nerve cell

{4) cartilage cell, muscle cell

Match the following :

Feature Function
{a) Artcular (i) its fibrous
cartilage nature hoelps to

strengthen the
joint

(b) Synovial fluid (i) connects bone
to bone

(c) Joint capsule (i) reduces
friction
between the
articular
cartilage in the
joint

(d) Ligament {ivi absorbs shock
and prevents
friction

(1)
(21
(3
(4)

{a)-(i, (b=, ()-(iv). (d)-H)
(a}-{iv). (B)-{i). (c)-(ii). (d}-{ii)
(@)-(iv), (b)-(iii). (c)-(i), (d)-{)
(a)-(ii), (b}-(iv). (c)-{i), (d)-(id)

19
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144, wefls eLden Bssfiflu whmo Wl &
e Gedser ppeppGu
1) poby Gsd, Grés Halugnssa

@

L th Bsd, @rés CHeuearenen-
L g 5 T

@ @rés Paiugpdsdr, priby Ged

(4)

EmELsmby Qd, gens Gea

145. GurmEgeE.

()

(b)

(<)

(]

(1)

(4

Qrwsoun(Biasen
Bpen prig
& e e LD
apl(B&enar
awuUBES
o peudlpg
STgpILDLL N
ETgDenL
Geanansding
ol paatia
edreT Gm5
Gsguioy
SIS
Eer_uSewmen
T mleneus
Gapsdlng
2 &)t &#lenw
e flgssausD
@b 2yl
anaud SHU
LIS 1D E 0

e gayflpg
(a}-(id). (b)-{idi). (c)-(iv). (d)-(i)
(@)-(iv), (b)=(i), (€)-(i), (dp-{ii)
fa-{iv), (b-(ii). (h-(i). (d)-id)
{a)-{ii), (b}-(iv). (c)-(i), (d)-{ii)

LT L ST
Goscsgby ()
-

Sl Genmatiliie
yeuld

(1)

aplip {iti)’

Caliavi,

FEOSHTT (iv)



|CDDEI\"I]][ 1] 24 I

SOCIAL SCIENCE / soups ynflefluwied

186. The grammar text composed by a Buddhist
during later Chaola period in 11% century was:

(1)
(2)

Virasozhiyam

Visuddhimagga

(3) Kalpa Sutra

{4) Maha Bhasya

Identify the place, which is not related to the
Bahmani Kingdom :

(1) Ahmadnagar (2) Sringeri

(3) Warangal (4) Gulbarga

Find the correct statement/statements.

147.

148,

Statement : {1) Cave architecture reached
its decadent phase after
A.D. 700 and gave way lo
the large structural
temples,

Statement : (2) The structural temples

provided a wider scope to

the sculptors to use their

skills.

Statement : (3) The shore temples at
Mahabalipuram are the
best example for cave
temples.

Statement (1) is correct but (2) and (3)
are wrong

Statement (1) and (2) are correct but
(3) is wrong

Statement (1), (2) and (3} are correct
Statement (3) is correct but (1) and (2)

are wrong

(1)
(2)

(3)
(4)

20

146. Spsrar Gsmpisafier srawren 11 <& ih
ppprared g Quarssrrd Bubpd
UL L [ElesEsanr mod :

@ eSrGenun
() eblsgHossr
(3) ﬁhu@ﬁurr
(4) wETUTERLIr
147, unflafl  srsLan  AsroiGawrg
BLenss CaiitlsRasaun.
(1) Sgowgpsi Ay Cad
(3) eumrhima | @eELFET
148. sflwmen SaDD)/ SahDisenmE S _Hiu-
&yLD.
i : (1) Gauars Gamrudaasear

Sienwsmn penp £.9. 700
-&@U darenit wenphgy
Cuflu agdlare s 6
wrend Carcfldssdr sCLL)-
AT 4
A Gsdr st Hpeowser
SEnanGengupb Lwenu@sS
Seisali ey menevsuRTERTLD HiTeRT
sU(purensd  Carelldsd
2fls aurooSanans
Gsrhisss.
S (3) wasrudlyrsfld  sewg-
guerar &L hsanrs Carsfidisen
Bwmrd Garelldsgnss
fops sBigEsT b,
(1) smppi (1) o, sapgy (2), () seug

@ S0 (1), (2) 21, sapgy (3) seug

(3)
(4)

SaDnisen (1), (2) whpb (3) &M
smp) () 2, sapm (1), (2) seum




149.

150.

151.

Two Indian members in the Royal
Commission in 1912 were :

(1) Sathyendranath Tagore, Ramesh
Chandra Dutt

(2) Biharilal Gupta, Gopala Krishna
Gokhale

(3) Gopala Krishna Gokhale, Sir Abdur
Rahim

(4) Satyendranath Tagore, Sir Abdur
Rahim

After whose invasion, the Pandyan kingdom
was divided among many kings ?

(1) Mohammad Ghazni

(2} Malik Kafur

(3) Jalal-ud-din Khilji

(4) Mohammad Bin Tughlug

Arrange the following events in

chronological order.
(i) Shivaji plundered Surat, the major
Mughal port on the Arabian Sea.

(i) Third Panipet war was fought between
the Marathas and the Afghans.

(iii) Shivaji captured Kondana a fort near

Pune.

fiv) Aurangazeb arrived in the Deccan.

(1) (). i), (i), (v) (2)

(3 () ). (i), (i) (&)

(i), (iid). (i). (iv)
(i), (3). (i), (1)

@

150.

151.

CODE |VIIL| 1T | 24

149, 1912 -@é S@wWESLULL T &

siflepeflss e pliSenaens @ bClupm

@ﬁ#wﬂ'ﬁrﬁ :

(1) aﬁ.ﬂﬂmﬁ.ﬁmu; B Sn il rEwes
sl B

@) Gsrilerd GUSH.

Amegan CarsGa

Carurae Smeagan Carsleo, sF

SiugT redhb

4) eaBCLBSTHIE e, & SLGIT
radin

Casmuma

urmeey ueLduELEhEy G
Lrdmgw BT ue Sirefsamd Gfisgs
QemereTOuC L g ?
(1) afefl psog

o mell SELy T
(3) meorenber g
(4) opswg Ger HETE

Genaumin Flapaysmen srasdyolus

aflesliufbsss.

i) Heungd) SrSE sLpse rulle
saopdnss psamuisadn
pslug HDpELT GIS HE@T
(60D LITig SR,

(i{f) ppempmb LmeflC Gumi wyrgdwr
sErsEh SUsraluisEEsEn
@eo Gu peoL QupDE.

iy Heurg), YCamsm imGausmbs
Garamfeaurar CariaLsnus
ensliLDBlenmT,

iv) gerrrsdo FEETEEOE
aulSeEnL BB

(1) (). (i), (i), Gv) (2
(3)

(i), (dd), (i), (iv}
(i), (iv), (E). (i) (i), (1), (iv). (1)
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152, succeeded in concluding a
commercial treaty with the Mughal Emperor

Jahangir.

(1) Job Charnock
{2) Thomas Best
(3}  Sir Thomas Roe

(4) Nicholas Downton

153. is considered as more reliable
book to know about Akbar's reign,
(1) Tarikh-i-Badauni
{2) Tabakat-i-Akbari
(3  Ain-i-Akbari
(4) Akbar Nama
154. Humayun succeeded in recapturing Delhi in

1555 with the help of the Persian king :

(1) Hasan Suri
(2) Mohumad Gawan
(3) Shah Tahmasp

(4) Hasan Shah

152.

153.

154.

paurul  Gurret mapridfib
Spfurdtla ewaflsn Gl b
efleoseud Gupafd Qapd
S guit .

(1) gm) smiemd
) smosh Auen
(@) st smosiv Gor
4) BECsrad Laem_d

SEUfldr Aomwd upd wflis
Cerdrar egaubd prosEndr laab
plhussgeaiaw wurnlpssrss sme
u{gl.i] Mﬁ.} ~

(1) grfis-g-usraf
@ SLsE- () - sy Efl
(3 oullel sEuf

(4) SuELF BT

Sy stanm uUnrpHs
wenenafien o geflyidr 1555 -&
A adlou dar(n asiuppeauda
Qruplfl Supprt

(1) emssn mH
(2) ppews seurdr l

@ QT -HILDEL

(4) anFer agr




155. Assertion (A) :

156.

Reason (R) ¢

In 1240, Razia was
murdered by  the
conspiracy of Turkish
nobles.

Razia trusted her personal
attendant Jalal-ud-din
Yakut an Ethiopian slave,
completely, which led to
the conspiracy of the
Turkish nobles.

(1} (A) is correct but (R} does not explain

(A)

(2) (A) is correct and (R) is the correct
explanation for (A)

(3)  (A) is correct, (R) is wrong
(4) Both (A) and (R) are wrong

Match the following :

{a}) Santhal
Rebellion

(i) 1859-1860

(b) IndigoRevolt (i) 1855-1856

(¢} Pabna Revolt (i) 1890-1900
' (d) Punjab Peasant (iv) 1873-1876

Movement

(1) (@)-(ii), (b)-(i), (c)-Gv), ()-()
(@) (a)id), (B)-{i). (ch-(iv). (d)-{iid)
(3)  (a)-{iv), (b, (c)-{i). (d)-{0)
(4)  {ay-(i), (B)-(iv). (c)-(ii). (d)-{id)
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155, sapml : 1240 -Bé gmsdlu Spyssar

Gels sfure pevallur
(i mam G L ST LT,

srgewTD - revetiur, georgifen wrEs

(1)

®

(3
(4)

aéngnh seng Fofl o g
urargren  ergACwriEw
Siganpay Gufigh podu
Gures, smedu Gryssa
FQELD SIS STTEmOoTeE

sapg #fl, Sgard snyewid
subenn cRenssciidene.

sapgu =M, CGugnd snyewmd
smpdiparen aflwre ellarEsom@EL0.
sampl 5, soremnd Feum.

D@ WHED snyesoTid (B e (Hio
gl

156, Durmise.

{a}

(b

{c)
(d)

(1)

©

(3)
()

spares mwsd (i)  1859-1860

@emeCar (i) 1855-1856
HEIHLD

umlenT S0 (i) 1890-1900
LGS (iv) 1873-1876
shlausml sar

Elwdsib

(a{iid), (b)-{ii), (c)-(iv). (d)-()
{ai-{ii). (B)-(i). (e)-{iv), (c)-(iid]
(a)={iv), (b)=(i), (€)-(E). (d)-{1)
()i}, (by-{iv). fc)-(iii). (d)-(ii)
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157. is perched upon a lofty rock

overlooking the town in Rajasthan.

{1} Udaipur Palace

(2) Palace of Mansingh
(3) Amber Fort

(4)  The castle of Jodhpur

158. Who wrote commentary on the Brahma-
Sutra, the fundamental text of the Vedanta

School 7

(1) Ramanufar

(2) Thukkaram

(3) Vallabhacharya
(4) Adhi Shankara

159. The original name of Dheeran Chinnamalai

Wils

(1) Sivagir

{2)  Theerthagiri

(3) Siva Subramani vam
(4} Sevathaiah

160. The temperature of the Earth increases as

the depth increases for every
metres at the rate of
along with the increase in the Pressure.

(1) 33,5 (2)
(3) 36, 7° (4)

3z, 1"
35, 1°

Celsius

157.

158.

159,

164,

—  rrgeugreflld, psemg
Cprédlu ausmamb, srefiflé omapr g
wenwuurenplfldr Gud sewssl)
LI (Hemargy.

(1) eglyf sramcaes

(2) wrenflk yraETone

(3} pour CamlenL

@ G wraflens

Cagnps Lsreflullan sngiuen graomen
Gnbw eadréfoes ey erupfueu

1) Semoreygmd
(2) gEsmymD
()  susbauimEsmflumy

S HeisyT

Even Aemempenevifen Buwid@iiw -

(3)  Seuslilrwenfliuh
(4) Geaugemswur

yeflblen oédr mmupd afdsfss,
2flsfés, dalvoray gautanms
_ BlLmEesib

Geadlue efgn ewibg Caliuhs e
Sipsspl flsflsdenmg

(1) 33,5
(3) 36, 7° (4) 35, 2"




161. Find the wrong Statement(s) :

162.

)

{i]

(i)

(1)
(3)

ﬂmuppercnlstnfli'mﬂmti:ﬁmm
called as Sial and the lower crust of
the Continents is called as Sima.

The innermost layer of the Earth is
called as lithosphere.

The innercore of the Earth is composed
af Nickel and Ferrous, which are in

liquid state.
(i) and (ii) (2) (i) only

(i) and (iii) (4) (i) only

Select the correct order of land forms created
by the river from its source to the river
mouth :

(1)

(2)

(3)

(4}

Tributary, Waterfall, Flood plain,
Delta, Oxbow lake

Waterfall, Meander, Tributary, Oxbow
lake, Delta
waterfall, Oxbow lake, Meander,

Flood plain, Delta

Oxbow lake, Tributary, Waterfall,
Delta. Flood plain
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161, Geupre Safiml/ Sahpsenars saim_huayn.

M) sar_hssiarn Cupusd Aumd
srareyld, Eptiumd Awr ey
SjenpisluBEang

(i) yeillfen swwuluEs uTaDs
Garenb erany SenipssuuBEDE

yellulien el smead  FHa
feoadd edaa flésd whpw
Bmourd g

(1) () wpgubd (i) (2) () LLED

@ (ii) opmid (i) (4) (i) WCFO

162. gp Caragdsfdops PE6
BT Gueny TghuBpsn Hod
Gsrpphsefian sflwren auflasemug

CpiptlpBanaid

M mevew smp. B elpsdl, Deuders
sweal, G, mHeny Hanoy
&l

@) B Sipidl, ip ssmeray, oo
g GEer Ganby g, Cdur

§i Spid, gPar sy o,
;Mpp  weday, SCedas
suwGleuefl, GLdum

4) @Heor @emby gl e 0.
fir fpsdl, G, Qeydrers
FinGleuafl




|CUDE|'1-"'III| nJ24]

163. Match the following :

(a)

(b)

ic)

(d)
(1)
(2)
(3)
(4)

Conurbation (i) Canton

Mega city (i)  Vadodara

Somart city (iii) Gurgaon

Megalopolis — (iv) Sholapur
(@l-{if), (by-(iv), (c)-(i), (d)-(i)
(a)-(i), (B)-{iv). {c}-{i). (d)-(iii)
(al-{iv), (b-{ii), {c)-(id). (d)-(i)
{@)-giii). (B)-(ik (c)-div), (d)-(i)

Assertion (A) : Due to low cost and high

earth strength, iron plays

a significant role in

engineering industries,

Reason (R) :  Pure iron ore is very soft,

(1)
{2)
)

(4}

but its strength ts increased
many folds by adding
small amounts of carbon

and manganese,

{A) 5 wrong but (R) is correct
(A) 1s correct but (R) is wrong

(A} is correct and (R) explains (A)

(A} is correct but (R) does not explain
(A)
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163, Qurmigs.
(a) GEevanrhs (i) Csemien
B&TLD
) el Quflw (@) wGstsrr
IB&ILD

f€) Qurdiayy (i) @mismen
B&EFLD

(d) BUGum pai (iv) Ceramiyi
(1) (a)-{im, (bi-fiv), (c)-(0), (d)-(ii)
(20 da)-{iis (b)-Civ), (e)-(i), (d)(iii)
(B} (ak(iv), (b)), (e)(H). (d)-(i)

(a)-(iii), (B-(i), (e)-{iv), ()i

164. SaD@y -

Bmoureag wdla e
wiph adon sryammors
(8) ot g il M i Agmifle
geopdd paidul kg
eudlEdflng

b :gnilewwures Bmbys srsl

Wlsaun  Guerewurens.
Al sevellwren srfuen
loppd wiksals Us oBés
senras GarksOuBuoCurg
Guogd ausllenn Gupydins.

(1)  sabmy ga SLamd smyemmb s
(2)  smmmi &, mapemnd sougy

@ Sanm) #f, Gloguh smpesmd sbeng
ﬁﬂmiﬁﬁmﬂ




165. Select the States where Mayani Bird
Sanctuary and Kanha National Park are
located respectively,

(1) Gujarat, Maharashtra

{2} Maharashtra, Madhya Pradesh
(3) Madhya Pradesh, Assam

{4) Rajasthan, Uttar Pradesh

166. Selact the wrong pair {s) related to forests of

Morth America.

Type of Forests Flora and Fauna
() Taiga forests -  Cedar, Elk
(if) Tropical rain -  Figs, Coyote
forests dogs
(lif) Tondra forests - Dwarf willows,
Wolverin
{iv) Cool Temperate - Yucca, Bear
deciduous forests
(1) (i) and (iii) (2} (i) and (i)
(3) (i) and (1) (4) (i) and (iv)
167, The smallest country found in the Continent
of South America is-:
(1) Uruguay (2) Suriname
(3) Grenada (4) Peru
168, In case of fire accidents, helpline number
should be dialled to contact the
fire service department.
(13 108 (2) 101
(3) 100 (4) 102

27

[CoODE [vin| 11 | 24 |

165. wwrefl Lpsreuss sTeTLb BHIID
srengpr Csflu yhisr gfuea
syenfgener ornfakss gpeapGu

1) SEITH. DADTTTEG T
wanrTepegT, WwHHLL SrGesd

(3) wiHwul GrGssid, v

(4) @rrgevgren, = gRoL GrGpan

166. L Qufsss srhsa dsrofurer
gaupre @Feeaw | Eoansods
Gaiptlsbiesa)n.
sipasflen euems 516 ] PRI 66T,

bl oo ser
() ensr sn@Es -  Cpausmm,
ST (uomen
(i) Qatuwemn w-  SiEdH,
ey STHEET GarCwrCon
L
(iil) gapdly srpss-  @@renoren
@ Ganm
LRI,
aumsbeufien
() @efips B RbBET. S5
Qeuliu @ena
Wl sm{psen
1) (i) womb (@) (2) (i) wHpd (i)
@ (i) opgd (iv) (4) () oD (V)

167. Glgen HPwfEss sar gl
Sieniopgedrer Sssfdlv B :

(1) emsGa &fflmmb
(3) &Qpamn 4) Gum

168. § efusfaCurg Sueemliud
Fenpew Qsmiy Hareren (B quaiorig i

e gell evem
(1) 108 101
{3y 100 {4y 102
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169. Find the correct pair :

(1) Phutonic rocks - Dolomite

(2) Hypabysalrocks - Dolerite

(3) Organic Sedimentary - Gypsum
rocks

(4) Chemical Sectimmll:ry— Diorite
rocks

170. Which one of the following represents the
line joining the places with aqual sunshine ?

{1} Isocryme (2) Isollobar

{(3)  Isohell {(4) Isotherm

171. Which among the following is not the Pull
Factor for migration ?

{1} Favourable climate
(2} Political security
(3 Unemplovment

(4) Soctal unification

169. sflurer Benemeniud CaipEs@bsa.

(1) Siguimpl - GLmereniol
LT & T
Berwmpl - Q_mallenm
LI T en M ST

(3) eudifiend wgays - @lsb
LI @ T ST

(4) @reruer Lgeyl - Lwengl

LIFEnm&Er

170. Epssem aupflé ag sw semey gl
Qeuetlésd esem G risener Bencardain
Gand < ?

1) gCandgerqic (2 mOsCarum

@ serase @ gomapis

171. denaumeuenauper ergl @ oEluwias
&ran @psnyenfl e 7

(1) o&ps srafena
2) sirflud ungsmiy
@ GeusnareumiiL Seanio

(4) =ps gomeno




172. The rate of evaporation increases with :

173.

174.

(1)
(2}
(*

(4)

decrease in temperature
increase in humidity
increase in wind speed

decrease in areal extent of surface
water-bodies.

An example for Joint Sector Industries :

(1]
(2)

(3)
(4)

Bajaj Auto

Hindustan Aeronautics Limited

Anand Milk Union Limited

Indian Synthetic Rubber Lid.

If the value of a product is Rs. 1200 and the
GST levied on that product is 12%, then the
Central and State government revenue from
GST respectively are ;

1)
(2)
(3)
(4)

Rs, 40 and Rs. 100
Rs, 70 and Rs. 70
Es, 100 and Es. 44

Rs. 72 and Rs. 72

[CODE [Viul] 11 | 24 |
bl &l §1b

o e T
s flafEdng.

<4, G LT e

(1) QauliuBee Gopuyb Qurps
() mplush sdsfssn Qurps
@ srpflan Caush flsfisgn
Qurags

(4) iflbie fifenaasr @enpud
Qg

173, sl (BigenD QerfesusEis

aDbgban ( :
(1) ugmh G

@ afipgeagra gGrrprigsa
Blpeuenh

(3)  senhd umd genbiu Hmesend

@pfwuea  Apsius  BrOUF

Hlmeuam

174. e Qurmeflen wdly @m.1200 wHD
oigan B fiFssiuBib GST 12% erafle
wiHu wpmd wrfe SrSsE

GST -ablmpg Gumpb Ggrens apenpliw :
(1) @540, m.100
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175.

176.

177.

178.

Which of the following is not the effect of

black money on economy 7

(1) Lavish consumption spending

{(2) Taxevasion, thereby loss of revenue to
Government

(3}  Narrowing gap between the rich and
the poor

(4)  Undermining equity

"Equality does not mean identity by
treatment, the saméness of reward”, was
said by :

(1) AV, Dicey

() Begum Rokeya Sakhawat Hussain
(3) Prof. Laski

(4) Raja Ram Mohan Roy

The Government of India observes ‘Road

Safety Week' during EVery year.
(1) June (2)  July
{3} March (4]  January

The Central Consumer Protection Authority

may impose a penalty upto _and
— on a manufacturer for a false

or misleading advertisement.

(1) INR 10,00,000, 3 months imprisonment
(2) INR 50,00,000, 1 year imprisonment
(3)  INR 10,00,000, 2 years imprisconment

{(4) INR 20,00,000, 6 months imprisonmant

175. Aeneumeueraihper ergl Qummennsrs-

Sl smuy vengfen eflenenay widie ?

(1) Loy mstey Gy

2 afl gordpsd pab srsés
aumeauml Gl
Lm&STTT Whayib a‘mp&aﬂm_ﬂu.r
Be Gadfl sapsd

(4) =sosmand agielipssd

176. "swpgeud eTeUg SLWONE BLESHS

ol Guéw, dasod safiudgib

soggens EmougrEn’  aém
Saflwisui ;
(1) &l e dl

(2) Cusb mGswr sareuf o Gsen
Currdiflwr somend
Elrmmmymb Giorsemymi

177. gavllanrm amigpd HifHurda

FTEnaLl LITEISTUIL eumh G&meamem -
u(BD wirgth :

(1) m9er 2) mOww
(3) wris @ genau]

178. gaprar alarourddpsrs wiBw

EETCart urgsTiy samamub G

e huflurarmé s LTSNS
: sl g Esanmb.

(1) .10,00,000, 3 wrgd Heops
ST amam

(2} .50,00,000, 1 aum. HAoph
& SR an e
. 10,00,000, 2 sugmLiser fHeanps
SETL_enen

(4) @.2000,000, 6 wrgh HAenph
&t anen




179. Find the correct statement,/ statement(s) :

()

(i)

(i)

(v}

(1)
(3

The number of judges in the High
Courts is not uniform and fixed.

The judge of High Court must have at
least five years experience as an
advocate in one or more High Courts.

A judge of High Court holds the office
until he completes the age of 65 years,
The President appoints the Chief
justice of High Court in consultation
with the Chief justice of Supreme
Court and the Governor of the State.

(i) and (iv)
(i) and {iii)

(iv) only
(i) only

(2)
(4)

From 3" December 2004 onwards, a person

born outside India shall not be a Citizen of
lndmbydﬂmt.unlu!hmhwﬂiﬂwgsmti
at an Indian Consulate within

of the date of birth.

(1)
(2]
(3)
(4]

oné Vear
six months

five years

one month

-olo-
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179, sflwuren spp | Ssppsoes
sair_filweyn.
i ewifdodap f 8 ud safen

(i3}

i)

(1v)

W

(3)

180.

canafléms Heomsursaun, @by
wrfflursen Gmuudldme.

goat ewiffodan SAufurs
Gaipphasiui G g
SighE GupurL swr faflinenmi
safie mgigmqgung @mlﬂ'ﬂ'ﬁﬁ
uULsD 5 %m@;m -H'I'EIJHJ'I.D:
Qupfimssd CeuanBib.

e wirffwearn B8 ufusn Lt
g euribl 65.

By Lrss sereveut e dsffoap
sowaw fiufemuyb, wrfla
sy Eparun sopsriurfisy
e widfioeny geowenn SHuSenwu
Fluioanh Qeldpri
(i) wpmd (iv)  (2)
(i) opmd (i) (4)

(iv) oL (BiD
(i) WD

2004 gFDUT 3 -SLD BTE PED

Gausfiprigd Gppseaisar GHHw
subsmauetl Guwfiew Bup SeuisEs-
e SpuSenan  EBpdu
grarssda uley Galw GadnBio.

®

(2)
(3)
(4)

B0 UGLESDST
6 LTS G
5 aufLsEn&Ee
1 rEEH D
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